
øQ|Q� hQLYHUVLWHVL
785*87 g=$/ 7,3 0(5.(=ø '(5*ø6ø

øQ|Q� 8QLYHUVLW\
-2851$/ 2) 785*87 g=$/ 0(',&$/ &(17(5

&LOW 2 9ROXPH = 8
6D\Õ 2 1XPEHU = 506
<ÕO 2 <HDU = 4<<;

<ÕOGD 7 NH] \D\ÕQODQÕU1 3XEOLVKHG TXDUWHUO\
http://www.inonu.edu.tr/tf/mb/dergi/index.htm

H0PDLO= GHUJL#LQRQX1HGX1WU

øQ|Q� hQLYHUVLWHVL DGÕQD VDKLEL=
2ZQHU RQ EHKDOI RI øQ|Q� 8QLYHUVLW\=

3URI1 'U1 gPHU ù$5/$.

(GLW|U2(GLWRU=
3URI1 'U1 )DWLK +ø/0ø2ö/8

(GLW|U \DUGÕPFÕODUÕ2$VVRF1 HGLWRUV=
'Ro1 'U1 g]FDQ (562<
3URI1 'U1 1LOJ�Q '$/'$/

<D\ÕQ NXUXOX 2 3XEOLFDWLRQ ERDUG=
3URI1 'U1 $OL 27/8

3URI1 'U1 (QJLQ *g=h.$5$
3URI1 'U1 6�KH\OD h1$/
3URI1 'U1 $\úHKDQ $.,1&,
3URI1 'U1 %�OELQ $.%$ù$.

<UG1 'Ro1 'U15DPD]DQ .87/8 +GUNXWOX#LQRQX1HGX1WU,
<UG1 'Ro1 'U1 %�OHQW <,/',5,0
<UG1 'Ro1 'U1 $\GD 7�UN|]
<UG1 'Ro1 'U1 6H]DL <,/0$=

%DVNÕ 2 3ULQWHG E\=
(YLQ 0DWEDDVÕ 7HO= 3 755 654 6< :4 0$/$7<$

6RUXPOX \D]Õ LúOHUL P�G�U� YH \D]ÕúPD 2 3XEOLVKLQJ PDQDJHU DQG FRUUHVSRQGHQFH=

1LPHW +$6,5ø3ø/ øQ|Q� hQ1 7ÕS )DN1
7XUJXW g]DO 7ÕS 0HUNH]L 'HUJLVL 6HNUHWHUL
7HO2ID[= 3 755 674 33 69 0$/$7<$
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*XLQHD SLJOHUGH FLVSODWLQ YH FLVSODWLQ0JHQWDPLVLQ NRPELQDV\RQXQXQ RWRWRNVLN
HWNLOHULQLQ KLVWRSDWRORMLN RODUDN DUDúWÕUÕOPDVÕ
$]L] g]W�UN/ (QYHU $OWDú/ %�OHQW $NWDQ/ 6RQHU g]HU/ 5 0XUDW .DUDúHQ/ $NLI dLIWoLR÷OX

443

7KH KLVWRSDWKRORJLFDO FKDQJHV LQ UDW IHPXU WKDW ZHUH IHG ZLWK ORZ0FDOFLXP GLHW LQ
ODFWDWLRQ DQG SRVWODFWDWLRQ SHULRGV
01$\GÕQ .HWDQL/ <XVXI 1HUJL]/ (QJLQ 'HYHFL/ 0XUDW $NNXú/ $\IHU ùDQOL/ %HUQD *�QH\

447

'HQH\VHO RODUDN GHUL \ROX\OD SHQWDNORURIHQRO +SFS, X\JXODQDQ UDWODUÕQ/ GRNX YH
LGUDUODUÕQGD/ NDOÕQWÕ G�]H\OHULQLQ JD] NURPDWRJUDIL \|QWHPL\OH DUDúWÕUÕOPDVÕ
6H\IXOODK 21 $UVODQ/ .HPDO 2]DQ/ 1XUD\ 8]XQ|UHQ

44;

,QWHUVWLV\HO VLVWLWLQ SDWRJHQH]L �]HULQH KLVWRNLP\DVDO YH LPPXQKLVWRNLP\DVDO ELU
oDOÕúPD
%DQX .XUWR÷OX/ .XWVDO <|U�NR÷OX/ 0XUDW 6HYLQo/ =L\D .ÕUNDOÕ

459

(QG�VWUL\HO J�U�OW� YH LúLWPH ND\EÕ
(QYHU $OWDú/ 6�OH\PDQ ùLULQ/ 51 0XUDW .DUDúHQ/ $]L] g]W�UN/ %�OHQW $NWDQ/ +DUXQ ho�QF�

466

2NXO oD÷Õ oRFXNODUÕQGD '(+% \D\JÕQOÕ÷Õ= |Q oDOÕúPD
01 (UNDQ g]FDQ/ 0�FDKLW (÷UL/ 11 2QXU .XWOX/ &HQJL] <DNÕQFÕ/ +DP]D .DUDELEHU/ 0HWLQ *HQo

46;

0DODW\D¶ GD ELULQFL EDVDPDN VD÷OÕN NXUXOXúODUÕQGD oDOÕúDQ VD÷OÕN SHUVRQHOLQLQ ³D÷Õ]
GLú VD÷OÕ÷ÕQÕ L\LOHúWLUPHGH IORU NXOODQÕPÕ SURJUDPÕ´ KDNNÕQGDNL ELOJL YH J|U�úOHUL
0HWLQ *HQo/ (UNDQ 3HKOLYDQ/ *�OVHQ *�QHú/ 0�FDKLW (÷UL/ 01$OL .XUoHU

476

(PHWURS RUWDRNXO |÷UHQFLOHULQGH \R÷XQ RNXPDQÕQ PL\RSL ROXúXPXQD HWNLVLQLQ
SURVSHNWLI LQFHOHQPHVL= LON VRQXoODU
øEUDKLP )1 +HSúHQ/ &HP (YHUHNOLR÷OX/ +�VH\LQ %D\UDPODU

47;

$OOHUMLN KDVWDOÕNODUÕQ WDQÕVÕQGD VSHVLILN ,J( WD\LQLQLQ |QHPL
6HUGDU $OWLQ|]/ =HOLKD $UÕNDQ/ %HW�O (UVR\/ 6HOoXN 6LQDQ dHOLN/ $\VHO $\GR÷DQ

486

dRFXNODUGD SRVWRSHUDWLI DQDOMH]LGH NDXGDO PRUILQ X\JXODPDVÕ
1XUWHQ %DNDQ/ 6LEHO 6D\GDP/ $\úH *�UHO

48;

6HUXP LPPXQRJOREXOLQV DQG FRPSOHPHQW OHYHOV LQ SDWLHQWV ZLWK DWRSLF GHUPDWLWLV
ùHQRO 'DQH/ 7HRPDQ (UGHP/ 9HGDW (UWXQo/ /DOHQXU 'DQH

495

8VH RI DQ LQOD\0LQWHUSRVLWLRQDO SHGLFOHG ILEXODU JUDIW IRU WKH WUHDWPHQW RI QRQ0XQLRQ
RI DOORJUDIW IUDFWXUH RI WKH WLELD
$OL *�UOHN/ *LXOLR *KHUDUGLQL/ $ODQ <DVNR/ 0LFKDHO -1 0LOOHU

498

%HEHNOHULPL]L QDVLO E�\�W�\RUX]"
0HWLQ *HQo/ *�OVHQ *�QHú/ (UNDQ 3HKOLYDQ

49<

/HSUDPDW|] OHSUDOL 5; KDVWDGD HOHNWURNDUGL\RJUDILN LQFHOHPH
&HPDO 7XQFHU/ <XVXI g]NDQ/ 5DPD]DQ g]GHPLU/ 6H]DL ùDúPD]/ (PLU '�QGDU/ 0HKPHW <DOQÕ]/
%DNL .RPVXR÷OX

4:9
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,QWUDFUDQLDO WXEHUFXORPD= FOLQLFDO DQG 05, ILQGLQJV
$\KDQ %|O�N/ hON� 7�UN/ (PHO $UÕEDú/ =HNHUL\D .|NUHN

4;3

3DUWLDO GHOHWLRQ RI ORQJ DUP RI FKURPRVRPH 44 >GHO+44,+T57,@ LQ D SDWLHQW SUHVHQWLQJ
ZLWK EHKDYLRUDO GLVWXUEDQFHV
2VPDQ 'HPLUKDQ/ $1.�EUD 7HPRoLQ/ $\VH $YFÕ/ $\VH %DODW

4;8

%LU ROJX VHEHEL\OH VWUHSWRNLQD]LQ GHULQ YHQ WURPER]X WHGDYLVLQGHNL \HULQLQ J|]GHQ
JHoLULOPHVL
+DVDQ %HUDW &LKDQ/ (UGDO (JH/ gQHU *�OFDQ/ 0HWLQ *�OF�OHU/ 0XVWDID 3Do

4;;

*HEHOLNOH VHPSWRPDWLNOHúHQ PLNVRSDSLOOHU HSDQGLPRP
$\KDQ %|O�N

4<3

$\QÕ VHDQVWD DoÕN NDOS FHUUDKLVL YH VHUYLNDO VHPSDWHNWRPL RSHUDV\RQXQXQ
\DSÕOPDVÕ
+DVDQ %HUDW &LKDQ/ (UGDO (JH/ gQHU *�OFDQ/ 5Õ]D 7�UN|]/ 0XVWDID 3Do

4<6

'(5/(0(/(5 2 5(9,(:6

9DFFLQDWLRQ VWUDWHJLHV LQ SDWLHQWV ZLWK ERQH PDUURZ WUDQVSODQWDWLRQ
7XUDQ $VODQ

4<9

1HZ DSSURDFKHV LQ WUHDWPHQW RI DXWLVWLF GLVRUGHU
01 (UNDQ g]FDQ

538
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7XUJXW g]DO 7ÕS 0HUNH]L 'HUJLVL WÕS ELOLPOHULQGH
\DSÕODQ RULMLQDO DUDúWÕUPDODUÕ/ ROJX VXQXPODUÕQÕ/ HGLW|UH
\D]ÕODQ NÕVD ELOGLUL YH GHUOHPHOHUL \D\ÕQODU/ \D\ÕQ GLOL
7�UNoH YH øQJLOL]FHGLU1
'HUJL\H J|QGHULOHQ \D]ÕODUÕQ GDKD |QFH

\D\ÕQODQPDPÕú YH\D ELU EDúND GHUJL\H \D\ÕQ LoLQ WHVOLP
HGLOPHPLú ROPDVÕ JHUHNLU1 .RQJUH YH\D
VHPSR]\XPODUGD VXQXODQ ELOGLULOHULQ/ EX HWNLQOLNOHUH DLW
NLWDSWD W�P�\OH \D\ÕQODQPDPÕú ROPDVÕ YH EX GXUXPXQ
ELU GLSQRW LOH EHOLUWLOPHVL JHUHNLU1
<D\ÕQODQPDN �]HUH J|QGHULOHQ \D]ÕODUÕQ JHUHNOL

LQFHOHPHOHUGHQ JHoHUHN NDEXO HGLOPHVLQGHQ VRQUD KHU
W�UO� \D\ÕQ KDNNÕ GHUJL\H DLWWLU1 <D]ÕODUGD DQODP YH
\D]ÕP NXUDOODUÕ LOH LOJLOL G�]HOWPHOHU \D]DUODUGDQ
LVWHQHELOLU YH\D HGLW|UFH \DSÕODELOLU1
<D]ÕODUÕQ ELOLPVHO YH HWLN VRUXPOXOX÷X \D]DU+ODU,D

DLW ROXS/ GHUJL EX NRQXGD VRUXPOXOXN DOPD]1
'HUJL\H J|QGHULOHFHN \D]ÕODU YH HNOHUL +IRWR÷UDI/

úHNLO YH WDEOR, �o Q�VKD KDOLQGH KD]ÕUODQPDOÕ YH
HGLW|UH ³0LFURVRIW :RUG IRU :LQGRZV³ LOH \D]ÕOPÕú 6
ò´ OLN GLVNHW LOH ELUOLNWH J|QGHULOPHOLGLU1
<D]ÕODU G�] EH\D] ND÷ÕGÕQ ELU \�]�QH +$7

ER\XWODUÕQGD, LNL DUDOÕNOÕ \D]ÕOPDOÕ/ NHQDUODUGD HQ D] 6
FP ERúOXN EÕUDNÕOPDOÕGÕU1 *|QGHULOHQ \D]ÕODUGD E|O�POHU
úX úHNLOGH VÕUDODQPDOÕGÕU= WDNGLP \D]ÕVÕ/ EDúOÕN/ |]HW YH
DQDKWDU NHOLPHOHU/ DQD PHWLQ/ WHúHNN�U/ ND\QDNODU/
WDEORODUÕQ KHU ELUL YH úHNLO DOW \D]ÕODUÕ1 øON VD\IDGDQ
LWLEDUHQ DOW YH\D �VW N|úHGH VD\ID QXPDUDVÕ ROPDOÕGÕU1
0HWLQ LON LNL \D]DUÕQ LP]DODGÕ÷Õ ELU �VW \D]Õ +WDNGLP

\D]ÕVÕ, LOH J|QGHULOPHOL/ EX \D]ÕGD PHWQLQ W�P� YH\D
ELU E|O�P�Q�Q EDúND ELU \HUGH \D\ÕQODQPDGÕ÷Õ YH
\D\ÕQ LoLQ WHVOLP HGLOPHGL÷LQH DLW ELOJL YHULOPHOLGLU1
%DúOÕN VD\IDVÕ= <D]ÕQÕQ DQODúÕOÕU HQ NÕVD EDúOÕ÷Õ/

\D]DUODUÕQ DGODUÕ YH VR\DGODUÕ/ DNDGHPLN �QYDQODUÕ/
\D]ÕQÕQ oÕNWÕ÷Õ NXUXP/ \D]ÕúPD \DSÕODFDN \D]DUÕQ DGÕ0
VR\DGÕ/ DGUHVL/ WHOHIRQ0ID[ QXPDUDVÕ/ YDUVD oDOÕúPD\Õ
GHVWHNOH\HQ NXUXP EHOLUWLOPHOLGLU1 'DKD |QFH WHEOL÷
HGLOPLúVH \HUL YH WDULKL ELOGLULOPHOLGLU1
g]HW= 7�UNoH YH øQJLOL]FH RODUDN EDúOÕNODU GDKLO HQ

oRN 533 NHOLPH ROPDOÕGÕU1 g]HWWH> PDNDOHQLQ JD\HVL/
\DSÕODQ WHPHO LúOHPOHU/ DQD EXOJXODU YH |QHPOL
VRQXoODU YHULOPHOL/ EXQODUÕQ NÕVD GH÷HUOHQGLULOPHVL
\DSÕOPDOÕGÕU1
g]HWLQ DOWÕQGD HQ D] 6 HQ oRN 9 DQDKWDU NHOLPH

YHULOPHOL YH EXQXQ LoLQ ,QGH[ 0HGLFXV¶GDNL ³0HGLFDO
6XEMHFW +HDGLQJV´ GHNL WHULPOHU HVDV DOÕQPDOÕGÕU1
0HWLQGH NXOODQÕODQ NÕVDOWPDODU DoÕN úHNLOGH \D]ÕOPDOÕ

YH P�PN�QVH NÕVDOWPDODUGDQ NDoÕQÕOPDOÕGÕU1 .XOODQÕODQ
LVWDWLVWLN \|QWHPOHUL D\UÕQWÕOÕ RODUDN WDQÕPODQPDOÕGÕU1

.D\QDNODU= 0HWLQGH JHoWLNOHUL VÕUD\D J|UH \D]ÕQÕQ
X\JXQ \HULQGH SDUDQWH] LoLQGH EHOLUWLOPHOLGLU1 .D\QDN
\D]ÕPÕQGD W�P \D]DUODU J|VWHULOPHOLGLU1 dRN PHUNH]OL
DUDúWÕUPDODUGD LON 6 \D]DU \D]ÕOÕS VRQUDVÕ LoLQ ³HW1 DO1´
YH\D ³YH DUN1´ LIDGHVL NXOODQÕOPDOÕGÕU1 .D\QDN VD\ÕVÕQÕQ
YDND WDNGLPOHUL LoLQ 43/ DUDúWÕUPDODU LoLQ 63 YH
GHUOHPHOHU LoLQ 83 LOH VÕQÕUOÕ NDOPDVÕQD |]HQ
J|VWHULOPHOLGLU1 .D\QDNODUGD GHUJL DGODUÕQÕQ NÕVDOWÕOPÕú
\D]ÕPODUÕ LoLQ ³/LVW RI -RXUQDOV ,QGH[HG LQ ,QGH[
0HGLFXV´ HVDV DOÕQPDOÕGÕU1
.D\QDNODUÕQ \D]ÕPÕ LoLQ |UQHNOHU=
0DNDOH= .LPXUD -/ 3RZHU -0/ YDQ $OOHQ 0:1

5HIOH[ UHVSRQVH RI RUELFXODULV PXVFOH WR VXSUDRUELWDO
QHUYH VWLPXODWLRQ1 $UFK 1HXURO 4<9<> 54= 4<6091
.XUXP \D]ÕVÕ= 7KH 5R\DO 0DUVGHQ +RVSLWDO %RQH0

PDUURZ 7UDQVSODQWDWLRQ 7HDP1 )DLOXUH RI V\QJHQHLF
ERQH0PDUURZ JUDIW ZLWKRXW SUHFRQGLWLRQLQJ LQ SRVW
KHSDWLWLV PDUURZ DSODVLD1 /DQFHW 4<::> 5=:75071
.LWDS= &ROVRQ -+/ $UPRXU :-1 6SRUWV ,QMXULHV DQG

7KHLU 7UHDWPHQW> 5QG UHY HG1 /RQGRQ= 61 3DXO14<;91
.LWDSWDQ ELU E|O�P = :HLQVWHLQ // 6ZDUWV 011

3DWKRORJLF SURSHUWLHV RI LQYDGLQJ PLFURRUJDQLVPV1 ,Q=
6RGHPDQ :$ -U/ 6RGHPDQ :$/ HG+V,1 3DWKRORJLF
3K\VLRORJ\= 0HFKDQLVPV RI 'LVHDVH1 7WK HG1
3KLODGHOSKLD= :% 6DXQGHUV 4<:7= 78:0:51
7DEORODU= +HUELUL D\UÕ ND÷ÕGD YH EDúOÕNODUÕ LOH

ELUOLNWH \D]ÕOPDOÕ YH DQD PHWLQGH JHoWLNOHUL VÕUD\D J|UH
QXPDUDODQGÕUÕOPDOÕGÕU1 7DEOR LoLQGH DoÕNOD\ÕFÕ ELOJL
ROPDPDOÕ YH NXOODQÕODQ VWDQGDUW GÕúÕ NÕVDOWPDODU
GLSQRWWD DoÕNODQPDOÕGÕU1
ùHNLOOHU= 3URIHV\RQHOFH oL]LOPLú YH IRWR÷UDIODQPÕú

ROPDOÕGÕU1 g]J�Q oL]LPOHU/ U|QWJHQRJUDPODU YH\D GL÷HU
JHUHoOHU \HULQH :3 [<3 PP ER\XWODUÕQGD QHW VL\DK
EH\D] IRWR÷UDIODU J|QGHULOPHOLGLU1 +HU IRWR÷UDIÕQ
DUNDVÕQD QXPDUDVÕ/ \D]DUÕQ DGÕ/ PDNDOHQLQ EDúOÕ÷Õ YH
�VW \|Q� EHOLUWHQ LúDUHW NXUúXQ NDOHP LOH \D]ÕOPDOÕ YH\D
EX ELOJLOHUL LoHUHQ ELU HWLNHW \DSÕúWÕUÕOPDOÕGÕU1 ùHNLOOHUOH
LOJLOL DoÕNODPDODU D\UÕ ELU ND÷ÕGD LNL DUDOÕNOD \D]ÕOPDOÕGÕU1
.LúLOHULQ IRWR÷UDIODUÕ NXOODQÕOÕ\RUVD WDQÕQPDODUÕ

|QOHQPLú ROPDOÕ YH\D IRWR÷UDIODUÕQ NXOODQÕOPDVÕ LoLQ EX
NLúLOHUGHQ DOÕQDQ \D]ÕOÕ L]LQOHULQ NRS\DVÕ \D]Õ LOH ELUOLNWH
J|QGHULOPHOLGLU1.DPX\D PDOROPXú EHOJHOHU GÕúÕQGD
EDúND ELU \HUGH \D\ÕQODQPÕú úHNLO YH IRWR÷UDIODU LoLQ
\D]DU YH \D\ÕQFÕVÕQGDQ L]LQ DOÕQPDOÕGÕU1

<D]ÕúPD DGUHVL= 1LPHW +$6,5ø3ø/
øQ|Q� hQLYHUVLWHVL 7ÕS )DN�OWHVL
7XUJXW g]DO 7ÕS 0HUNH]L 'HUJLVL 6HNUHWHUL
7HO2ID[= 3 755 6743369 77433 0$/$7<$
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7KH -RXUQDO RI 7XUJXW g]DO 0HGLFDO &HQWHU

ZHOFRPHV RULJLQDO DUWLFOHV DQG FDVH UHSRUWV/ EULHI
OHWWHUV WR WKH HGLWRU DQG UHYLHZ DUWLFOHV RQ EDVLF DQG
FOLQLFDO PHGLFDO VFLHQFHV1
0DQXVFULSWV DUH UHFHLYHG ZLWK WKH H[SOLFLW

XQGHUVWDQGLQJ WKDW WKH\ KDYH QRW EHHQ SXEOLVKHG LQ
ZKROH RU LQ SDUW HOVHZKHUH/ WKDW WKH\ DUH QRW XQGHU
VLPXOWDQHRXV FRQVLGHUDWLRQ E\ DQ\ RWKHU SXEOLFDWLRQ1
3UHVHQWDWLRQV DW FRQJUHVVHV RU LQ V\PSRVLD DUH
DFFHSWHG RQO\ LI WKH\ ZHUH QRW SXEOLVKHG LQ ZKROH LQ
FRQJUHVV RU V\PSRVLXP ERRNOHWV DQG PHQWLRQHG DV D
IRRWQRWH1
6XEPLVVLRQ RI DQ DUWLFOH IRU SXEOLFDWLRQ LPSOLHV WKH

WUDQVIHU RI FRS\ULJKW IURP WKH DXWKRU+V, WR WKH
SXEOLVKHU XSRQ DFFHSWDQFH/ EHFRPH WKH SHUPDQHQW
SURSHUW\ RI 7KH -RXUQDO RI 7XUJXW g]DO 0HGLFDO &HQWHU
DQG PD\ QRW EH UHSURGXFHG E\ DQ\ PHDQV/ LQ ZKROH
RU LQ SDUW/ ZLWKRXW WKH ZULWWHQ FRQVHQW RI WKH
SXEOLVKHU1 7KH DGGLWLRQDO ERDUG UHVHUYHV WKH ULJKW WR
KDYH WKH DXWKRU+V, WR PDNH FRUUHFWLRQV RI WKH FRQWHQW
DQG GHVLJQ RI WKH SDSHU1
7KH VWDWHPHQWV DQG RSLQLRQV FRQWDLQHG LQ DQG

HWKLFDO FRPSDWLELOLWLHV RI WKH DUWLFOHV DUH XQGHU WKH
UHVSRQVLELOLW\ RI VROHO\ WKRVH RI LQGLYLGXDO DXWKRU+V,
DQG2RU FRQWULEXWRU+V,1
0DQXVFULSWV VKRXOG EH ZULWWHQ LQ 7XUNLVK RU LQ

(QJOLVK LQ WULSOLFDWH1 7KH PDQXVFULSW VKRXOG EH
VXEPLWWHG LQ D 6 ½´GLVNHWWH/ ZULWWHQ LQ 0LFURVRIW :RUG
IRU :LQGRZV1
0DQXVFULSWV VKRXOG EH W\SHG GRXEOH0VSDFHG RQ

RQH VLGH RI VWDQGDUG $7 SDSHU/ ZLWK PDUJLQV RI 6 FP1
$UWLFOHV VKRXOG EH VHW RXW DV IROORZV= FRYHULQJ OHWWHU/
WLWOH/ DEVWUDFW DQG NH\ ZRUGV/ WH[W/ DFNQRZOHGJPHQW/
UHIHUHQFHV/ WDEOHV DQG LOOXVWUDWLRQV1 7DEOH DQG
LOOXVWUDWLRQ SDJHV VKRXOG DOVR LQFOXGH WKH KHDGLQJ RU
OHJHQG/ DQG EH QXPEHUHG EHORZ RU DERYH WKH SDJH1
$ VHSDUDWH FRYHULQJ OHWWHU VLJQHG E\ WKH ILUVW WZR

RI WKH DXWKRUV DVVXULQJ WKDW WKHLU VWXG\ KDYH QRW EHHQ
SXEOLVKHG LQ ZKROH RU LQ SDUW RU XQGHU VLPXOWDQHRXV
FRQVLGHUDWLRQ E\ DQRWKHU MRXUQDO VKRXOG DOVR EH
VXEPLWWHG ZLWK WKH DUWLFOH1
7LWOH SDJH= VKRXOG LQFOXGH WKH FRPSUHKHQVLEOH

WLWOH RI WKH DUWLFOH LQ EULHI/ QDPH+V, DQG VXUQDPH+V, RI
WKH DXWKRU+V,/ DFDGHPLF SRVLWLRQ+V,/ LQVWLWXWH/ QDPH
DQG DGGUHVV IRU FRUUHVSRQGHQFH/ DQG VSRQVRULQJ
LQVWLWXWH1 7KH GDWH DQG SODFH RI SUHVHQWDWLRQ VKRXOG
DOVR EH VWDWHG/ LI SUHYLRXVO\ SUHVHQWHG LQ D PHHWLQJ1
$EVWUDFW= VKRXOG QRW EH PRUH WKDQ 533 ZRUGV

DQG EH SURYLGHG ERWK LQ 7XUNLVK DQG (QJOLVK ZLWK WKH
WLWOH1 7KH DLP RI WKH VWXG\/ PDWHULDOV DQG PHWKRGV/
UHVXOWV DQG FRQFOXVLRQ VKRXOG EH GLVFXVVHG DQG
VXPPDUL]HG LQ WKH DEVWUDFW1
%HORZ WKH DEVWUDFW/ 6 XS WR 9 NH\ ZRUGV VKRXOG EH

JLYHQ EDVHG RQ ³0HGLFDO 6XEMHFW +HDGLQJV´ RI ,QGH[
0HGLFXV1
7H[W= $Q\ DEEUHYLDWLRQ ZKLFK LV QRW GHILQHG

FOHDUO\ VKRXOG QRW EH XVHG LQ WKH WH[W DQG DYRLG

DEEUHYLDWLRQV LI SRVVLEOH1 6WDWLVWLFDO DQDO\VLV PHWKRGV
VKRXOG EH GHVFULEHG LQ GHWDLO1
5HIHUHQFHV= 6KRXOG EH LGHQWLILHG E\ $UDELF

QXPHUDOV +LQ SDUHQWKHVHV, LQ WKH WH[W1 $OO DXWKRUV
VKRXOG EH FLWHG/ LI PXOWL LQVWLWXWLRQDO VWXGLHV DUH EHLQJ
FLWHG/ DIWHU JLYLQJ WKH QDPHV RI WKH ILUVW 6 DXWKRUV/ ´HW
DO1´ RU ³YH DUN1´PD\ EH XVHG IRU WKH UHPDLQLQJ RQHV1
(YHU\ DWWHPSW VKRXOG EH PDGH WR NHHS WKH QXPEHU RI
UHIHUHQFHV WR D PD[LPXP RI 43 IRU FDVH UHSRUWV/ 63
IRU RULJLQDO DUWLFOHV/ DQG 83 IRU UHYLHZ DUWLFOHV1 8VH WKH
VW\OH RI WKH H[DPSOHV EHORZ/ ZKLFK DUH EDVHG RQ WKH
IRUPDWV XVHG E\ WKH ³/LVW RI -RXUQDOV ,QGH[HG LQ ,QGH[
0HGLFXV´ WR DEEUHYLDWH MRXUQDO QDPHV LQ UHIHUHQFHV1
([DPSOHV IRU UHIHUHQFHV =
$UWLFOH= .LPXUD -/ 3RZHU -0/ YDQ $OOHQ 0:1 5HIOH[

UHVSRQVH RI RUELFXODULV PXVFOH WR VXSUDRUELWDO QHUYH
VWLPXODWLRQ1 $UFK 1HXURO 4<9<>54=4<6091
3XEOLFDWLRQ RI DQ RUJDQL]DWLRQ = 7KH 5R\DO

0DUVGHQ +RVSLWDO %RQH0PDUURZ 7UDQVSODQWDWLRQ 7HDP1
)DLOXUH RI V\QJHQHLF ERQH0PDUURZ JUDIW ZLWKRXW
SUHFRQGLWLRQLQJ LQ SRVW KHSDWLWLV PDUURZ DSODVLD1
/DQFHW 4<::>5=:75071
%RRN= &ROVRQ -+/ $UPRXU :-1 6SRUWV ,QMXULHV DQG

7KHLU 7UHDWPHQW1 5QG (G/ /RQGRQ= 613DXO1 4<;91
&KDSWHU LQ ERRN= :HLQVWHLQ // 6ZDUW] 011

3DWKRORJLF SURSHUWLHV RI LQYDGLQJ PLFURRUJDQLVP1 ,Q=
6RGHPDQ :$ -U/ 6RGHPDQ :$/ HGLWRU+V,1 3DWKRORJLF
3K\VLRORJ\= 0HFKDQLVPV RI GLVHDVH1 3KLODGHOSKLD= :%
6DXQGHUV 4<:7= 78:0:51
7DEOHV= 6KRXOG EH SUHSDUHG RQ VHSDUDWH VKHHWV

ZLWK WKH KHDGLQJ DQG/ EH QXPEHUHG FRQVHFXWLYHO\
DFFRUGLQJ WR WKH DSSHDUDQFH LQ WKH WH[W1 $Q\
H[SODQDWLRQ VKRXOG QRW EH XVHG LQ WKH WDEOH/ DQG
DEEUHYLDWLRQV RXW RI VWDQGDUGV VKRXOG DOVR EH
GHVFULEHG DV IRRWQRWHV
,OOXVWUDWLRQV= 6KRXOG EH GUDZQ LQ SURIHVVLRQDO

PDQQHU DQG SKRWRJUDSKHG1 ,QVWHDG RI RULJLQDO
GUDZLQJV/ URHQWJHQRJUDP RU RWKHU PDWHULDOV/ D :3[<3
PP JORVV\ EODFN0DQG0ZKLWH SKRWRJUDSKLF SULQWV RI
HDFK VKRXOG EH VXEPLWWHG1 7KH QDPH+V, RI WKH
DXWKRU+V,/ WLWOH DQG WKH WRS RI WKH LOOXVWUDWLRQ VKRXOG
EH LQGLFDWHG ZLWK D SHQFLO RU SDVWHG ZLWK D ODEHO RQ
WKH UHYHUVH VLGH1 'HILQLWLRQV UHODWHG ZLWK LOOXVWUDWLRQV
VKRXOG EH W\SHG GRXEOH0VSDFHG RQ D VHSDUDWH VKHHW
,I SKRWRJUDSKV RI SHUVRQV DUH XVHG/ WKH VXEMHFWV

PXVW QRW EH LGHQWLILDEOH RU D FRS\ RI WKH ZULWWHQ
SHUPLVVLRQ RI WKH SDWLHQW VKRXOG EH VXEPLWWHG1
'RFXPHQWV RWKHU WKDQ LQ SXEOLF GRPDLQ/ SXEOLVKHG
DQ\ZKHUH VKRXOG EH VXEPLWWHG ZLWK WKH ZULWWHQ
SHUPLVVLRQ IURP WKH FRS\ULJKW KROGHU1

)RU FRUUHVSRQGHQFH= 1LPHW +$6,5ø3ø/
øQ|Q� hQLYHUVLWHVL 7ÕS )DN�OWHVL
7XUJXW g]DO 7ÕS 0HUNH]L 'HUJLVL 6HNUHWHUL
7HO2ID[= 3 755 6743369 77433 0$/$7<$/
7XUNH\
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<$<,1 '$1,ù0$ .858/8

$KPHW %$ù2/ 3URI1'U1 (JH h171)1/ 3VLNL\DWUL/ ø]PLU
$NLI *h/(d 3URI1'U1 *D]LDQWHS h171)1 2UWRSHGL/ *D]LDQWHS
$OL g]GHPLU (562< 3URI1'U1 (UFL\HV h171)1/ 1|URORML/ .D\VHUL
$OL 5Õ]D 8<6$/ 3URI1'U1 $QNDUD h171)1/ (QGRNULQRORML/ $QNDUD
$OS '(0ø5(//(5 3URI1'U1 $QNDUD h171)1/.%%/ $QNDUD
$OSD\ &85$ 3URI1'U1 (JH h171)1/ dRFXN +DVWDOÕNODUÕ/ ø]PLU
$WDPDQ 7$1*g5 3URI1'U1 (JH h171)1/ 3VLNL\DWUL/ ø]PLU
$\úH :,/.,( 3URI1'U1 $QNDUD h171)1/ (QIHNVL\RQ/ $QNDUD
%HGUL 8=81$/ø02ö/8 3URI1'U1 +DFHWWHSH h171)1/ 3DWRORML/ $QNDUD
%HNLU %h.( 3URI1'U1 (JH h171)1/ (QIHNVL\RQ +DVWDOÕNODUÕ/ ø]PLU
%XUKDQ ù$+ø1 'Ro1'U1 71<1+1ø1/ *DVWURHQWHURORML/ $QNDUD
&HPLO 527$ 3URI1'U1 $QNDUD h171)1/ 3DWRORML/ $QNDUD
&XPKXU (57(.ø1 3URI1'U1 (JH h171)1/ 1|URORML/ ø]PLU
'HUYLú 2UDO 3URI1'U1 $QNDUD h171)1/ .DUGL\RORML/ $QNDUD
'LOHN 'ø1d2/ 3URI1'U1 $QNDUD h171)1/ +HPDWRORML02QNRORML/ $QNDUD
(PLQH .h7h. 'Ro1'U1 71<1+1ø1/ .DUGL\RORML/ $QNDUD
(UKDQ 1$/d$&, 'Ro1'U1 $QNDUD h171)1/ )L]\RORML/ $QNDUD
(UWX÷UXO 0ø5=$ 3URI1'U1 (UFL\HV h171)1/ *|] +DVWDOÕNODUÕ/ .D\VHUL
)ÕUDW 257$d 3URI1'U1 $QNDUD/ h171)1/ .DGÕQ 'R÷XP/ $QNDUD
)LNUL ød/ø 3URI1'U1 $QNDUD h171)1/ +HPDWRORML02QNRORML/ $QNDUD
)XDW $/7$< 'Ro1'U1 71<1ø1+1/ *DVWURHQWHURORMLN &HUUDKL/ $QNDUD
*DOLS .HPDOL *h1$< 3URI1'U1 (UFL\HV h171)1/ 3ODVWLN &HUUDKL / .D\VHUL
+DOGXQ 0h'(55,62ö/8 3URI1'U1 %DúNHQW h171)1/ .DUGL\RORML/ $QNDUD
+DOLO '2ö87(.ø1 3URI1'U1 'LFOH h171)1/ *DVWURHQWHURORML/ 'L\DUEDNÕU
+DOXN '('$ 'Ro1'U1 $QNDUD h171)1/ %H\LQ &HUUDKL/ $QNDUD
+DOXN .2d 3URI1'U1 $QNDUD h171)1/ +HPDWRORML02QNRORML/ $QNDUD
+DOXN g=(1 3URI1'U1 +DFHWWHSH h171)1/ hURORML/ $QNDUD
øVNHQGHU $/$d$<,5 'Ro11'U1 $QNDUD h171)1/ *HQHO &HUUDKL/ $QNDUD
øVNHQGHU 6$<(. 3URI1'U1 +DFHWWHSH h171)1/ *HQHO &HUUDKL/ $QNDUD
øVWHPL 1$/%$17*ø/ 3URI1'U1 (JH h171)1/ 'DKLOL\H/ ø]PLU
.DPLO 72.(5 3URI1'U1 .RFDHOL h171)1/ $QHVWH]L/ .RFDHOL
.HPDO 3$08.d8 3URI1'U1 (JH h171)1/ *|] +DVWDOÕNODUÕ/ ø]PLU
.HQDQ $7(ù 'Ro1'U1 $QNDUD h171)1/ 1HIURORML/ $QNDUD
0HWLQ '(0ø5&ø1 3URI1'U1 +DFHWWHSH h171)1/ .1 91 &/ $QNDUD
0XVD $.2ö/8 'Ro1'U1 71<1ø1+1/ *DVWURHQWHURORMLN &HUUDKL/ $QNDUD
1D]PL %ø/ø5 3URI1'U1 +DFHWWHSH h171)1/ +DON 6D÷OÕ÷Õ/ $QNDUD
1XUFDQ g='$0$5 3URI1'U1 (JH h171)1 1|URúLUXUML/ ø]PLU
1XUúHQ 'h=*h1 3URI1'U1 $QNDUD h171)1/ øPPXQRORML/ $QNDUD
1XVUHW $5$6 3URI1'U1 $QNDUD h171)1/ *HQHO &HUUDKL/ $QNDUD
2÷X] 7$ù'(0,5 'Ro1'U1 71<1ø1+1/ .191&/ $QNDUD
2NDQ $.+$1 3URI1'U1 +DFHWWHSH h171)1/ 5DG\RORML/ $QNDUD
2\D %$<,1',5 3URI1'U1 (JH h171)1/ %LRNLP\D/ ø]PLU
g÷�Qo *h1+$1 3URI1'U1 (JH h171)1/ .%%/ ø]PLU
5DPD]DQ $.ùø7 3URI1'U1 (JH h171)1/ )75/ ø]PLU
5HFDL 3$%8d&8 3URI1'U1 *$7$/ .DGÕQ 'R÷XP/ $QNDUD
6DEDKDW 7(=&$1 3URI1'U1 +DFHWWHSH h171)1/ +DON 6D÷OÕ÷Õ/ $QNDUD
6HOLP %$'85 3URI1'U1 øVWDQEXO h171)1/ 0LNUREL\RORML/ øVWDQEXO
6HOLP.$5$<$/d,1 3URI1'U1 $QNDUD h171)1/ *DVWURHQWHURORML/ $QNDUD
6HPLK $<',178ö 3URI1'U1 $QNDUD h171)1/ *HQHO &HUUDKL/ $QNDUD
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6HPLK 6$5*,1 'Ro1'U1 71<1ø1+/ hURORML/ $QNDUD
7D\ODQ .$%$/$ 3URI1'U1 (JH h171)1/ (QGRNULQRORML/ ø]PLU
7LPXU *h5*$1 3URI1'U1 +DFHWWHSH h171)1/ .DGÕQ 'R÷XP/ $QNDUD
7XUDQ &80+85 'Ro11'U1 71<1ø1+1/ 5DG\RORML/ $QNDUD
hON� %$<,1',5 3URI1'U1 (JH h171)1/ *|÷�V +DVWDOÕNODUÕ/ ø]PLU
9HOL /g. 3URI1'U1 (JH h171)1 2UWRSHGL/ ø]PLU
<DúDU %('h. 3URI1'U1 $QNDUD/ h171)1/ hURORML/ $QNDUD
<DYX] '(0ø5(/ 3URI1'U1 $QNDUD h171)/ $OOHUML/ $QNDUD

- )DN�OWHPL]LQ 3URIHV|U YH 'RoHQW �QYDQOÕ |÷UHWLP �\HOHUL <D\ÕQ 'DQÕúPD .XUXOX*QXQ GR÷DO �\HOHULGLU1


